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1.(7%)10 = (7.625)0 = (111.101),

2.(8)10 = (00001000),

(—8)10MY 1 fiE = (1111 0111),

(—8)10/1y 2 ## = (11110111 + 1), = (1111 1000),
3.(36E.74)15 = (0011 0110 1110.0111 0100),
4.(63712.1515)g = (110011 111 001 010.001 101 001 101),

= (67CA.34D)4;
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1.throughput & H{ = (I #45 RS 4R -R AR R A (KA -
Min (R1, R2, R3)
=>R1 11 500Kbps
2. 4AMB/500 Kbps
=4x1024%x8Kb / 500Kbps
= 65.5sec
(=) iMessage J& i~ B8 EREES - AIEARAYF- & F(macOS, i0S,iPadOs,
watchOS) 7 {#1 &, - H e AV & © XMPP(Extensible Messaging and
Presence Protocol) -
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(—) BRI NIBEE (recursive)E & AR ?

(2 ifn=2,
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2T(n/2)+n ifn=2"fork>1
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(=) ENBaVERR(splay tree)dh - EE L FAHE{E(key)6 MIBRTTZR (deleting the
element) g5 R

(M) BELERFHIFEEE A (linear time algorithm) » 7§ 10~ 1211465
8315397411+~ 13 702 » 2REEVL —JrHEFE(binary heap) I

— ERSH FERE



P
&" =R H # ﬁ % www.3people.com.tw

BEe n=

T(n) = T(16)

=2xT(8)+16
=2x(@2xT(4)+8)+16
=2xX(2x2xT(2)+4)+8)+16
=2x2x2x@2)+4)+8)+16
= 64

T(n)

=2 xT(2k1) + 2k

=2x(2xT(2k2) +2k1) + 2K
=2x(2xT(2xT(2F3) 4 2k72) 4 2k-1) 4 2k
=21 x 242k 42k 4. 4 2K

=k x 2k

=log,n Xn
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- BEETHERE: (8)&#E5%9#£2045)
(=) BRxBERVIBRT » BT TR - FRMEHERAT?

def funl (x):
print (x)
if (W< 2):
funl(x + 1)
else:
print (x)
print (x)
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A def PT(t):
if{t is not NULL):

print(t.value)
PT (t.Right)

AA
D E F G
BRI TNE » BEER/
main ()
{
int A = 5;
while (A < 7) {
printf ("%i ", A);
A++;
}
printf("%i ", B);
while (B > 2) {
printf ("%i ", A);
n -= Z;
}

(M) FENATREL > \MEiERA/P?

void funcC(int *p){
int v;
y = *p + 3;
o = v * 3;
}
maini)
{
int m = 3, n = &;
funccC (&m) ;
funcC (&n) ;
printf ("%4d%4d\n", m,
)
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public void mystery(int x)

{

System.out.print(x % 10);
if ((x / 10 = 0)
{

mystery(x / 10);

System.out.print(x % 10);
}
(&) 143211234
(Z) U2 CHEERIARE -
int sub1(int x, int *y){

X +=5;
ry* =2
return *y + Xx;
}
int sub2(int *x, int y){
*X += 3,
y*=2
return *x +vy;
b
void main(){
inta=3,b=5,c,d;
¢ = subl(a, &b) + sub2(&a, b);
d = sub2(&a, b) + subl(a, &b);
¥

BXHTER  abc RIPERT?

(&) :a=13 b=20 c=46 d=71
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